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A1 Work out the value of x. 

 

A2 Work out the value of x. 
 

 

A3 Work out the value of x. 

 

A4 Work out the value of x. 

 

B1 Work out the value of x. 

 

B2 Work out the value of x. 

 

B3 Work out the value of x. 

 

B4 Work out the value of x. 

 

C1 Work out the value of x. 

 

C2 Work out the value of x. 
 

 

C3 Work out the value of x. 
 

 

C4 Work out the value of x. 
 

 

D1 Work out the value of x. 

 

D2 Work out the value of x. 

 

D3 Work out the value of x. 

 

D4 Work out the value of x. 
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Jamie measures the three angles of a 
triangle. His measurements are 36º, 
112º and 23º. 
How do you know that he has made a 
mistake?  
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